K24 5 4 X 100mR

W22 R gk (KT)
2 ELER (GR)

45.72
47. 42

Bt - EN
it - o

SN it NG g )
< /NI - PE G o

2014
2014

W R EHEER
FoEk AT - AR

6H11H 17:50 T3

6H12H 09:10 #Ep-fk
6H12H 16:20 BBk

HERRE  2AH3%E +2

1R
1% E¥F (=8 49.35 2% MR (=E) 49.44 3% |LWFH(=ZFH) 49. 98
6V Q 4v-7 Q V- Q
= - fon - R4 = - o - B4 i) fon - R
1 675 FH K (©2) 1 1746 T Bk (2) 1 1318 B EF(2)
2 3798 H¥E  —3F (1) 2 3149 K ME Q) 2 3513 Tl H (1)
33797 WA KWR(1) 3 3151 /bR gEK (1) 3 3518 JR[E —HR(1)
4 676 TE A2 4 1744 5K BE(2) 4 1312 Jla %%R(@2)
47 I (=ZE) 50.74 52 BT (=) 51.44 62 AILFET (ZE) 51.63
3-v q 5=/ q 2V=y
=4 = o= K4 IR = o - R4 IR = o - R4
1 1654 Vil = (2) 12270 &R HEHE(2) 1 2212 RKE EHB(©2)
2 3908 i@ (1) 2 3015 HAT Bz (1) 2 3121 &R EHQ)
33919 WA Bk (D) 33009 /AT (1) 3 3114 J& —& (1)
4 1639 {Fpk W (2) 4 2269 =E —HEQ2) 4 2211 BTEREZSE(2)
AT T (=) SEHE (=)
8-y DSQ,R2  1b-v DNS
I = funT = K4 F=4 - N - K4
1 1442 Al B (2) 11828 . EITF(2)
2 3724 HHHECRET (1) 2 1836 )l (1)
3 3726 HEVL k(1) 3 1834 s UAE (1)
4 1447 WE Bk Q) 4 1831 THIE i (©2)
250
1 MR (EH) 50.12 2% “ZFEH(ZH) 50.36 3% $nlg (=) 52. 05
5b-/ Q 3= Q 2V-7 Q
=4 = o - K4 =4 = fun - K4 =4 = o - KA
1 1930 i&EK #(2) 1 115 BE LA© 1 2108 (LA FHiAE(2)
2 3880 PJIHEAHR (1) 2 3838 [ EXK(1) 2 3186 fEA HERT (1)
3 3873 HH pEsE(D) 33830 WEWY REH(D) 33187 Il KRR (D)
4 1934 FHHE HIK(©Q) 4 125 UEEFERER(2) 4 2101 KME EQ)
48 Ry B (5HE) 52.20 5% IEFAT (=) 52.31 6% —HHH(=H) 54. 44
v=y 8V—v 1=y
=4 = o - K4 =4 = fun - K4 =4 = o - KA
1 2703 miH FEJ5(2) 1 1150 ¥RKH #&AE(2) 1 2346 /NVE  BEEL(2)
2 2720 JIMR EIE (D) 2 3428 FiE P (D) 2 2900 HE T (1)
3 2721 W)l BBE(1) 3 3426 FHMH HiKQ) 32902 AR IREL(D)
4 2705 FH)I FHAK(2) 4 1155 FiH #(2) 4 2347 HTPF K@)
N (=) KAH (=)
6L—v DSQ,R2  4b—v DNS
=4 = o - K4 =4 = fun - K4
1 1570 I EAS(2) 1 1959 HHPE  PER(2)
2 2848 YR PRAE(D) 2 3277 W SEEE(D)
3 2843 7§ IhiE (1) 3 3275 FIL R (1)
4 1569 HJII H#(2) 4 1961 JRH EE(2)

FL5l DNS:X&15 DSQ:%k#& R2:A—/\—J—> 2—-3



